* T A L &= (—34 1)
el iR LY
V= 988.93 X  0.10 = 98.89  m3 98.9
fEELT
R K, BEAREEY TLY
BRI V=" 0.417 X 164.70 = 68. 68
BEWEEE  v= 0.766 X 8.40 = 6. 43
LKt V= 1.563 X 1.26  (3€0.63%X2) = 1.97
HEkfuE  v= 0.416 X 7.50 = 3.12
Vo= 80.20 m3 80. 2
PR K, BEAREEY TLY
BRI V= 0.315 X 164.70 = 51.88
FEWEEE  v= 0.766 X 8.40 = 6. 43
LKt V= 1.048 X 1.26  (3%€0.63X2) = 1.32
HEkmuE  v= 0.164 X 7.50 = 1.23
Vo= 60.86 = m3 60.9
75y
V= 98.89 + 80.20 -  80.20 0.90 = 89.98 m3 90. 0




BE K #B E D (3t 1)
U Ximd v
250A L= 103.00 + 3.40 -+ 58. 30 164. 70 m 164.
F—F s XL v
VYA 7 VR ERE N=  164.70 —+ 10. 00 16.50 | # 17.
ay ) — & X, Z7Vv—F o 7HLY
VA o EERE N=  164.70  —+ 0.50 - 17. 00 312.40 | K 313.
M=y 7 U — R X LY
18-8-25BB N= 1. 00 1.00 | f&Fr 1.
LK T X &L 0
400 X 400A N= 2.00 2.00 f&pr 2.
ikar 7 U —h X &Y
18-8-25BB A= 0.10 X (16470 +  1.26 16.60 | m2 16.
FEWT RN Ximd v
G250A L= 3.90 -+ 4.50 8. 40 m 8.
HEAKALER Ximd v
VP ¢ 100 L= 7.50 7.50 m 7.




mED R ELHRERSE

(—xH )
FEEY EEE L T
SRR
(72774 k) L= 7.40 + 3.90 + 164.70 + 16.80 + 15.00 = 207.80 m 207. 8
(t=15cmLL ) | B.P. (No.0) :7.4m+E.P. (No.8+8.7) : 3. Om+UBMMIIE ¢ 164. TmrBEMT ML ¢ 16. SmidALLER - 15. Om
AR EELY
AsHEE L A= 988.93 = 988.93  m2 988. 9
iR
MEGConFEE L V= 0.043 X 174.36 = 7.50  m3 7.5
AIHEIE R 1=103. 0+3. 9+4. 5+3. 4+58. 3+EE KMt - 0. 63 X 2
TR ALER T
I AsHUEEL LY
(AsH) V= 988.93 X  0.04 = 39.56  m3 39. 6
ARGy AeERr (AsBi) X v
(AsB) V= 39. 56 = 39.56 m3 39. 6
TR HEFHCon N EE L L
(#Ef5ConBl) V= 7.50 = 7.50  m3 7.5
RISy R EME (EEF5ConBl) LV
(#Ef5ConBl) V= 7.50 = 7.50  m3 7.5




\:b :::
o OX I #H B (224 0)
T AT 7V ML
AT SRR EL Y
(M-30, t=100) A=  988.93 988.93  m2 988.9
FET AR E LY
(topl3 t=40) A=  988.93 988.93 | m2 988.9




AT A E qoOHE T
- P I t  ® B & T W %
woas | omo os | B w ey wow | oW s m R | W FH | m M
(m) (m) (m2) (m) (m) (m2) (m) (m) (m2)

B.P. (No.0) | No.0 7.40 7.40
20. 00 7.30 146. 00 7.30 146. 00

No. 1 No. 0 20. 00 7.20 7.20
20. 00 7.80 156. 00 7.80 156. 00

No. 2 No. 1 20. 00 8. 40 8. 40
20. 00 7.10 142. 00 7.10 142. 00

No. 3 No. 2 20. 00 5. 80 5. 80
20. 00 6. 20 124. 00 6. 20 124. 00

No. 4 No. 3 20. 00 6. 60 6. 60
20. 00 6. 85 137. 00 6. 85 137. 00

No. 5 No. 4 20. 00 7.10 7.10
20. 00 5. 45 109. 00 5. 45 109. 00

No. 6 No. 5 20. 00 3.80 3.80
20. 00 3. 50 70. 00 3. 50 70. 00

No. 7 No. 6 20. 00 3.20 3.20
20. 00 3.55 71. 00 3.55 71. 00

No. 8 No. 7 20. 00 3. 90 3.90
8.70 3. 90 33. 93 3. 90 33. 93

E.P. No. 8 8.70 4.10 4.10
GEil 168. 70 988. 93 988. 93




Y =
X H =2 ) (—32 1)

X R T

SR Ximd 0
M 3R L= 103.00  +  103.00 206.00 m 206. 0
W=15cm

MEPAES L= 2.80 2.80 | m 2.8
O FER 2. 8m/ & T

W=15cm

AL L= 18. 60 18.60 m 18.6
(L Eh) ¥ 18. 6m/ & T
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il 1%

250A ) (10m24 )

.90

405
250

250 [=2000

1 /65

10039

. _EHEH (RC-40)

300
500
4 R B BN
PUBRARITH: 2. 000 = 5.000 | & 5. 00
250A
(VYA 7 VRERSE)
LS Y 0. 030 10. 000 = 0.090 @ m3 0.09
1:3
FEERE A 10. 000 = 5.000 @ m2 5. 00
10. 000 0. 100 = 0.500 @ m3 0.50
FEEEIE 10. 000 = 5.000  m2 5. 00




3fE 250/

(U HA 7 VRRER )

= v s Yy — F %
( 3 @ 250 )EH ) (10m24 v)
362
10, 135, 10
362
& ‘
g L ]
o
3
5 402 5
4 PR H " BN 5

a7 JY—kZE| N= 10.000 -+ 0. 500 20.000 | H¢ 20. 00




By EANT LV —F j
( 3 @ 250A 25| ) (104 09)
362
| 362

8 ‘

o |

s [ ] L]

3 2
4 PR B B BN K =3
syaanre—srr%l N= 10,000 =+ 10.000 1.000 | # 1. 00

3fE 250

(U HA 7 VRRER )




1 7 {1 i |
( G250A ) (10m24 )
460
55 250 55
| | SL-—FUSE
‘ ‘ T AL rED
| il
g | 8 15 230 IH:E
{ :” BELZIL:3)
gl =
s F ' i gL U— b
- (18-8-25BB)
XXX X \§EE$Z(RC—4U)
420
520
620
4 PR H B BN 5
FE TR L= 10.000 X 1.000 = 10.000 {@& 10. 00
GRERT T-25 Av b [EE
(VYA 7 VRERSE)
#E LX)l V= 0.42 X 0.020 X 10.000 = 0.084 m3 0. 08
1:3
Hpg=L 2 )—R V= 0.52 X 0.100 X 10.000 = 0.520  m3 0. 52
18-8-25BB
il e A= 0.1 X 10.000 X  2.000 = 2.000 m2 2.00
(— )
FEERE A = 0.620 X 10.000 = 6.200 @ m2 6. 20
V= 0.62 X 10.000 X 0.150 = 0.930 m3 0.93
FEEEIE A= 0.620 X 10.000 = 6.200 | m2 6. 20




Vi - GEERD
460
250
S UZE)3% (348 250 L=2000)
(=>]
iwEga o) —k  t=100
3 g 18-8-25BB
=+ N
BEILZILA:3)
Lo
o ({=]
m T
)
= . E#E# (RC-40)
300
500
4 PR H B BN =%
a /7 U—Fk V= 0.460 X  0.405 0. 100 = 0.019 m3 0. 02
18-8-25BB
Tl A= 0.460 X  0.405 2. 000 = 0.373
A= 0.405 X  0.100 2. 000 = 0.081
SA = 0.454  m2 0. 45




4 7K ks y
(400 X 400A ) (10259)
630
115 | 400 | 115
; I~ ]
(e 7"
y T
s E#Earo)—+F
= % % (18-8-25BB)
8 730 ~ W4 (RC-40)
830
4 R #t " BN &
(I R PUBEFE 244 1.000 X 10.000 = 10.000 X 10. 00
(400 X 400A) ( ZEZHEE=270kg/H )
TVL—F L rE 1.000 X  10.000 = 10.000 H¢ 10. 00
(T-25, 400 X 400)
A L R— | 0.050 X 0.400 X 0.400 X 10.000 = 0.080 m°® 0.08
a7 U—h
(18-8-25BB)
a7 ) — kK 0.730 X 0.730 X 0.100 X 10.000 = 0.533 m°® 0.53
(18-8-25BB)
[a] AP 0.730 X 0.100 X 4.000 X 10.000 = 2.920 @ m? 2.92
FEHERS 0.830 X 0.830 X 10.000 = 6.889 | m? 6. 89
(RC-40, t=10cm)
FEEEIE 0.830 X 0.830 X 10.000 = 6.889 | m?® 6. 89




HE

7K

(10m%4 v )
300
100 100 100
S , VPE ¢ 100
o o
o o
s 2/ )
b= .
o a 49—k 18-8-25BB
RC-40
P PR H B BN 5
VP& L= 10.000 =  4.000 = 2.500 A 2.50
6100 (4ME%114)
V7 b N= 10.000 -+  4.000 = 2.000 @ f@# 2.00
o 100/
a7 Y—k V= 0.300 X 0.300 X 10.000
(18-8-25BB) — 0.057 X 0.057 X x X 10.000 = 0.797 @ m3 0. 80
BN A= 0.300 X 10.000 X 2.000 = 6.000 @ m3 6. 00
FEAERS A= 0.400 X 10.000 = 4,000 | m2 4. 00
(RC-40, t=10cm)
FEEEIE A= 0.400 X 10.000 = 4,000 | m2 4. 00




